A Spektroszkopia 2. kollokviumon hasznalhat6
képletek gytujteménye
(2007)

E(rt)=—— b(t_gsme B(rt)= p(t‘(:js”‘@

4ne, rc? = dme, e
_aw e’z 1
dt 2 Bre,C’
E(0)=FT{E®)}~ L
|(w+wo)—(y2°) i(m_wo)_(Vzoj
PO ——
o {5
,_ e E
0 m o —o°+iyw
2
P= Ne_#
m o, —o" +Ilyo
2 2 2
nI:1+£Ne @, 2(,0
2 oM (2 - +720?
K= Ne* Yo
2e,m (@) — 0 )+ 7’0’
Ne? Y0
o=
CeoM (0 — 0’ f 770’
eZ
G((D): 4 Y .
Me,C . (v
(0)0 _0)) +(2j

© . } 1 e2
! =£dla =£|((D)N0de: NXI(OJo)I[Gd(Dz N 0,) mg:fc

2 a
n _1+Z7fz—bi



N, =
1 EJ
of exp(— ij +0; exp(— kT]
h 3
n’c? exp[ ! ]—1
kT
1
le _£<¢||H |(I)l>

i¢, =¢,Vy, eXp(_ iw21t)COS ot
ic, = c,V,; explic, t)cos ot

)
sin? —2——t

= |V, || ——2——

(C‘)zl - (‘))2

d<|cz(t)| >= m‘;:z ‘<¢1|DX|¢2>‘ZP(°’21)

(050

dN [
2= AN, [g(v)dv + BN, fg

e, (t)°

12

3h2

dt 0
dl |
—-=-B,N,~>g(v)v
ot =
n n
_ Bug(vhv
’ c
n
dl hv

o~ CaNily o N, + =N,

Vidv—B,N, jg (Vi(v)dv



o(hv) = [P, (EJP,(E+hviE

g(hV):i AEl +AE2

2 2
v - (2555
dN \/T mv?
N exp| - dv,
N 2nkT okT
B L N | G A P
g(V)_ \/ZTE? Vo, EXpH 2KT v2, j(\’ V21) }

e2

n2
= —
" 8rg,hcR Z

d2 rR Z}er R
d(r2 )+ hz (E_ETK _V(r')):/\zT

2 2
_ 0 Z+Ctgea_Y+%a_Z _ A2y
90 00 sin“0 op

Vi, (0.0)=5in" (0)p,, (cos )™

_ Ze' 1
" 32n’eln’ n’

+Eqy

_P
R”J = pILn,I(p)e 2

|‘I’|24nr2dr = P(r)dr

B
d=s2 1y,
ma V0
— g
. 2m




S P D

|
0,108 cm™! 030 ™
n=3 ———q—————- N T === 3Dy,
" s 3"Dspy
n=2 ———
251 PP
0,36 cm™ (2047-107* eV)
n=1-——

1S

H AE,;=-1810"eV (21452 cm™)



